

B: $x=0 \rightarrow \tan\left(\frac{\pi}{4}\right) = 1 \rightarrow (0, 1)$ (1)

A: $-2m + \frac{\pi}{4} = \frac{\pi}{4} \rightarrow m = -\frac{\pi}{4}$

C: $-2m + \frac{\pi}{4} = -\frac{\pi}{4} \rightarrow m = \frac{3\pi}{4}$

C - A = $\frac{\pi}{2}$

$S = \frac{1}{2} \times 1 \times \frac{\pi}{2} = \frac{\pi}{4}$

مسائل اضافی $\rightarrow \frac{r}{9} - \frac{r}{4} (\sin x) - \frac{1}{4} \cos^2 x = 0 \rightarrow 14 - 2r \sin x - 9(1 - \sin^2 x) = 0$

$\rightarrow 9 \sin^2 x - 2r \sin x + 5 = 0 \rightarrow \sin x = \frac{2r \pm \sqrt{4r^2 - 20}}{18}$ ✓
 $\rightarrow \frac{r}{9}$ ✓

$\sin = \frac{1}{4} \rightarrow \cos = \frac{\sqrt{15}}{4} \rightarrow 1 + \tan^2 x = \frac{1}{\cos^2 x} = \frac{1}{\frac{15}{16}} = \frac{16}{15}$

$\log \sin x - \log (-\cos x) = \log^r \rightarrow \log \frac{\sin x}{-\cos x} = \log^r \rightarrow \sin x = -\cos^r x$ (14)

$\rightarrow \sin^r x = 9 \cos^r x \rightarrow \sin^r x \cos^r x = 1 \rightarrow \cos^r x = 1 \rightarrow \cos = \frac{1}{10} \rightarrow \cos = \frac{\sqrt{10}}{10}$

$\rightarrow \cos = -\frac{\sqrt{11}}{11}, \sin = \frac{\sqrt{11}}{11} \rightarrow \sin x - \cos x = \frac{\sqrt{11}}{11}$

$\sin^2 x + \cos^2 x = \frac{r}{2} \rightarrow \sin^2 x - \sin^2 x + 1 = \frac{r}{2} \rightarrow \sin^2 x (\sin^2 x - 1) + 1 = \frac{r}{2}$ (15)

$\rightarrow -\sin^2 x \cos^2 x + 1 = \frac{r}{2}$

$\cos^2 x + \sin^2 x = \cos^2 x - \cos^2 x + 1 = \cos^2 x (\cos^2 x - 1) + 1 = -\cos^2 x \sin^2 x + 1 = \frac{r}{2}$

Date: / /

Sat.	Sun.	Mon.	Tue.	Thu.	Wed.	Fri.
------	------	------	------	------	------	------

Subject: -----

$$\frac{\sin m (r + \cos m)}{r (1 - \cos^2 m)} = \frac{\sin m (r + \cos m)}{r \sin^2 m} \quad \leftarrow \quad (a)$$

$$\frac{\sin m \sin m}{\cos m} = \frac{1}{\cos m} = \frac{\sin^2 m}{\cos m} = -\frac{\cos^2 m}{\cos m} \rightarrow \sin m \leftarrow \quad \left. \begin{array}{l} \text{multi:} \\ \hline \end{array} \right\}$$

$$\frac{r}{\sin m} + \frac{r}{\cos m} = 0 \rightarrow r \cos m + r \sin m = 0 \xrightarrow{\sin m \neq 0} r \cos m + r \sin m = 0 \quad (4)$$

$$\rightarrow \cos m = -\frac{r}{r} \sin m \rightarrow \cos^2 m = \frac{r}{r} \sin^2 m \rightarrow 1 - \sin^2 m = \frac{r}{r} \sin^2 m$$

تمت العلاقات انتر

$$\rightarrow \sin^2 m = \frac{r}{1+r} \rightarrow \sin m = \pm \frac{r}{\sqrt{1+r}}, \cos m = \pm \frac{r}{\sqrt{1+r}}$$

$$\tan m + \cos m = \frac{1}{\sin m \cos m} = \frac{1}{-\frac{r}{1+r}} = -\frac{1+r}{r}$$

$$\sqrt{1 + \sin \alpha} = \sqrt{1 + \cos \beta} \xrightarrow{\text{مربع الطرفين}} \sqrt{2 \cos^2 \alpha} = \sqrt{2} \cos \alpha \quad (صحيح) \quad (\checkmark)$$

$$\text{نرجع: } \sin \alpha_0 + \sin \beta_0 = \sin(\alpha_0 + \beta_0) + \sin(\alpha_0 - \beta_0) =$$

$$\sin \alpha_0 \cos \beta_0 + \cos \alpha_0 \sin \beta_0 + \sin \alpha_0 \cos \beta_0 - \cos \alpha_0 \sin \beta_0 = 2 \sin \alpha_0 \cos \beta_0$$

$$= \cos \beta_0 \quad \frac{\sqrt{1 + \sin \alpha_0}}{\sin \alpha_0 + \sin \beta_0} = \frac{\sqrt{2} \cos \beta_0}{\cos \beta_0} = \sqrt{2}$$

Subject :

Date :

$$\begin{aligned}
 & \frac{1 - \cancel{2} \sin^2 \alpha}{\cancel{2} \cos^2 \alpha} = \frac{1}{\cos^2 \alpha} \quad \text{فردی طلایی} \quad \cos 10^\circ \\
 & \frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha} = \frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha} \quad \text{فردی طلایی} \quad \cos 20^\circ \\
 & \cos 2\alpha = \frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha} \quad \cos 40^\circ \\
 & \frac{1}{\sin 10^\circ} \times \cos 10^\circ \times \cos 20^\circ \times \cos 40^\circ = \frac{1}{\sin 10^\circ} \\
 & = \frac{1}{\sin 10^\circ} \times \sin 10^\circ = 1 \quad \text{فردی طلایی} \quad \cos 10^\circ = \frac{1}{\sin 10^\circ} = \frac{1}{\cot 10^\circ}
 \end{aligned}$$

$$2(\cancel{2} \cos^2 \alpha - 1) - \cancel{1} \cos^2 \alpha - \cancel{1} \cos^2 \alpha - \cancel{1} \cos^2 \alpha - 2 = ? \quad (9)$$

$$\sin \alpha + \cancel{2} \cos^2 \alpha = 2 \rightarrow \sin \alpha = 2 - \cancel{2} \cos^2 \alpha \xrightarrow{\text{فردی طلایی}} \sin \alpha = 2 - 2 \cos^2 \alpha + \cancel{1} \cos^2 \alpha$$

$$\rightarrow 1 \cos^2 \alpha - \cancel{1} \cos^2 \alpha + \cancel{1} = 0 \rightarrow 1 \cos^2 \alpha - \cancel{1} \cos^2 \alpha - 2 = -2 = \underline{\underline{1}}$$

$$\cos^2 \frac{A}{2} = \frac{1 + \cos A}{2} \quad \cancel{2} \sin B \sin C = 1 + \cos A \quad (10)$$

$$\cancel{2} \sin B \sin C = 1 - \cos(B+C) \rightarrow \cancel{2} \sin B \sin C = 1 - \cos B \cos C + \sin B \sin C$$

$$\rightarrow \sin B \sin C + \cos B \cos C = 1 \rightarrow \cos(B-C) = 1$$

$$\rightarrow B = C \rightarrow B = C = \cancel{1} \cancel{2} \rightarrow A = 180^\circ - \cancel{1} \cancel{2} = \underline{\underline{34}}$$